Extra Thermo Equations 17.3
1. Calculate the amount of heat needed to melt 45.0 g of ice at 0􏰂C. Express your answer in kilojoules. 

2. Calculate the amount of heat needed to convert 90.0 g of liquid water at 18􏰂C to steam at 100.0􏰂C. 

3. How much heat (kJ) is released when 3.543 mol NaOH(s) is dissolved in water? 
NaOH(s) + H2O(l) Na􏰅(aq)-----( 􏰅OH􏰆(aq) 
􏰃Hsoln􏰁= - 445.1 kJ/mol 
4. Calculate the amount of heat needed to convert 75 g of ice at 􏰆35􏰂C to 
water at 28􏰂C. The specific heat capacity of H2O(s) is 2.1 J/gp􏰂C. 

5. Identify each enthalpy change by name and classify each change as exothermic or endothermic. 

   a.
1 mol C3H8(l) → 1 mol C3H8(g)

   b.
 1 mol Hg(l) → 1 mol Hg(s)

   c.
1 mol NH3(g) → 1 mol NH3(l)

   d.
1 mol NaCl(s) + 3.88 kJ/mol → 1 mol NaCl(aq)

   e.
 1 mol NaCl(s) → 1 mol NaCl(l)

6. How much heat is absorbed when 41.3 g of H2O(s) at 0􏰂C is converted to liquid at 0􏰂C?  

7. How much heat is absorbed when 3.53 mol of NH4NO3solid is dissolved in 

water? (􏰃Hsoln􏰁25.7 kJ/mol) 

